Section 2.3 Mixing problems
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2.3 Mixing Problems and Cooling Problems

Example 2.3.1. A tank originally contains 100 gal of fresh water.
Then water containing r_; Ib of salt per gallon is poured into the
tank at a rate of 2 gal/min, and the mixture is allowed to leave
at the same rate. After 10 minutes the process is stopped, and

fresh water is poured into the tank at a rate of 2 gal/min, with

the mixture again leaving at the same rate. Find the amoupt of

salt in the tank at the end of an additional 10 min. /[\
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Example 2.3.2. In an oil refinery, a storage tank contains 2000
gallons of gasoline that initially has 100(Ibs.)of additive mixed in.
In order to produce a different grade of gas, gasoline containing 2
Ibs. of additive per gallon is pumped into the tank at the rate of
40 gallons per minute, and the well stirred mixture is pumped out

at the same rate. Find the amount and concentration of additive
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Example 2.3.3. In Example 2.3.2, suppose the tank holds 3000
callons and is initially only 2/3 full of the original mixture. Gaso-
line containing 2 lbs. of additive per gallon flows into the tank
at the rate of 40 gallons per minute but the well-stirred mixture
is draining out at the slower rate of 10 gallons per minute. How

many pounds of additive will be in the tank at the moment the
-
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